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l) How many passwords of length 5 can be made from vowels (upper and lowercase)?
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3) 10 countries each have one woman swimming in the women's 200m freestyle. How many ways
might the podium's nationality be arranged?
(e.g. in tokyo 2020 it was Australia, Hong Kong (China) & Canada)
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n= 10 k= 3
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L\ How many ways can we order 14 pizza for our TAs from a pizza place which serves 3 types of pizza
(cheese, pepperoni, veggie)? Assume a whole pizza may only be of one type.
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é I've got 3 pairs of pants, 2 shirts and 5 hats. How many outfits (pants, shirt & hat) can | wear
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%ountries each have %goman swimming in the women's 200m freestyle. How many ways
) might the podium's natiomality be arranged?
(e.g. in tokyo 2020 it was Australia, Hong Kong (China) & Canada)
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might the podium's nationality be arranged?

>’countries each have gg@woman swimming in the women's 200m freestyle. How many ways
(e.g. in tokyo 2020 it was Australia, Hong Kong (China) & Canada)
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How many ways can we order 14 pizza for our TAs from a pizza place which serves 3 types of pizza
(cheese, pepperoni, veggie)? Assume a whole pizza may only be of one type.

(++) redo the pizza problem, relaxing our assumption that the whole pizza may only be of one type.
Instead, assume each half of the pizza may only be of one type.
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